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% T = 2 iz HECOD)
MRz 1 = 100,000
1= R R 1 = 65,400
(S RLAY BE 52 1 = 97,500
LSO i =Y WY 1 = 204,800
o A L 1 = 66,000
RKE 1 = 480,000
IEYN: 1 = 87,999
B A B U S 1 = 200,000
USiv N S 1 =z 93,000
/NELEIFERR AT 1 = 165,000
ERSRE 1 = 76,800
E R IR 1 = 210,000
BELHER 1 = 86,500
MEETRFE 1 = 65,800
BFKRF 1 =z 87,000
BFKRF 1 =z 78,000
ARl E e AL ENS 1 = 438,500
pap o= [k 1 = 71,000
BRI 1 = 87,210
BT R E S 1 = 52,500
22 SRtk Es g 1 = 130,000
KE R 1 4f 111,000
QKB 1 = 90,000
YRR 1 = 220,000
BREfE 1 e 125,000
TEYREYE Bn A 1 = 1,148,000
BEE 1 = 270,000
AR AU 1 = 140,000
HEEes 1 = 260,000
A= A 1 = 70,000
DV 2 B ERHE R I 1 = 53,750
AEIES TR LN 1 = 198,000
FAAENE (%A s f R R EH) 1 41 53,000
peebi el Gifil5Er: 1 &4H 193,000
{alikzs 1 = 65,565
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